=T O B[R
INFURRAR R
VaY— FE BT —F
HifrE 2 Bz [(EfX] a— R4 ) ] )
YFr7aRFL T
Bk wWH B [(BEffiX] A& — MUA 763m
T 4= HiE 656m
HREEER B RE [(BfX] EeE 107m
1 &8 248
2Ry H— &= Vil [NGP] a— Aty H— =8 5 [NGP]
BiEH - A - g —B BiEHE - A - g —B
TR 38(37) R Z— MEER] 10:00 TS 38(37) A F— 12:00
P73 E E4-] 7k P23 E £ A7 N
AF—r/T4=vvaRik 0.5C / 1.0C AF—F /T4 =y aRi 1.0°C / 1.5C
F:
ML AF—h £ EEE 128 24&B A & V—X
No No K% B 4% B 4 B M OB B R B ARAb
.. 3 =& E 754 b 51.34 5211 1:43.45
2 2 e MT¥ Val— 1:10.27 1:02.55 2:12.82
g Bl =D EA 5177 1:2558 2:17.35
4 1 WA T3 774 b 3:1923 5958 4:18.81
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUNI 0
DISQUALIFIED [1st RUN] 0
NOT PERMITTED TO START  {ist RUN] o
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
NOT PERMITTED TO START  [2nd RUN] 0
BEifffek B BE [ BEfX]

2025-02-01 / == « 7' U — > VY 7 HE,HEaT

S8/ 2

DATA PROCESSING by SEI KO

TIMING by SEI KO



A DO [Bl#x
ANRRER
Pl — FE =BT —F
i B2 BE [EffX] a—R4 i . .
FF s aRF LT
FE wH B [EffX] R F— PR 763m
VR REY: - 656m
BHEER B BE [EfiX] ErE 107m
14 H 278
a— Ry F— =12 INGP] a—RE ey H— 5% 5 [NGP]
AIEE - A - i —B ATEHE - A - g —B
% 383N R Z— R 10:00 THEP% 38(3ND R & — R 12:00
PR3 1 ESy= J7 b KiE E FE VAR
RE—bF/"T 4=y aRik 0.5C 7 1.0C RE—~bL/T 4=y Va2 RiR 1.0°C 7 1.5C
WBRT A-h o-b EEEE 1XE 248 & # 1—x
No No K4 B % B B 4 L ST < i IV
1.5 ¥En Es Tal— 37.77 38.53 1:16.30
DED NOT START [1st RUN] 0
DID NOT FENESH [1st RUN] 0
DESQUALIFIED [1st RUN] 0
NOT PERMETTED TO START [1st RUN] 0
DID NOT START [2nd RUN] 0
DED NOT FENESH [2nd RONY 0
DESQUALEFEED [2nd RUN] 0
NOT PERMETTED TO START [2nd RUN] 0
itz B B [Ef#iX]

2025-02-01 / == - 'Y — 7 R

S8/ 2

DATA PROCESSING by SE I KO

TIMING by SE I KO



INFAE 2 EEH
ANRRAER
Va2 FHE_HAT—F
Bk i B [(EfnX] a— R4 ) ) )
P s RF LT
% wH B [(BffiX] A H— NS 763m
TA=w A 656m
BEERR 2 e [(EffiX] EEE 107m
14AH 248
I—REyHF— =B 5 [NGP] a— Ry F— =B 5 [NGP]
AiEE - A - i — BiEH - A - g —5
M 38(37) A B — R 10:00 TEFT B 38(37) A S — PR 12:00
PR3 =1 1 Y7k FKiE F EY N7
AE—bN/T7 4=y vaRik 0.5C / 1.0C AF—b/ T4 =vvaRiik 1.0°C / 1.5C
F:
NEGL Ap= a-b EEHE 1A 24B & 3 V—A
No No K4 B 2% BB & B B OB R OB R AASAUE
1. 15 BER IE PERDES 3274 3614 1:08.88
= 11 K#Ex HEE Tal— 3996 4198 1:21.94
3 10 K#&E AL ERES 4237 4485 1:27.22
4 8 B ER ATA B 4560 4394 1:29.54
5 13 kg FEZA Pal— 4754 4619 1:33.73
6 9 AVFR OKE Yal— 5583 57.37 1:53.20
(f 6 BRk mRE BIAF 5793 5857 1:56.50
8 12 +EB S Tal)— 56:40 1:00.56 1:56.96
9 7 +B A TaP— 4355 1:19.32 2:02.87
10 14 Hm =4 DERDES 1:17.80 5926 2:17.06
DID NOT START [1st RUN] l
16 EiH VDA Tall—
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
NOT PERMITTED TO START [1st RUN] 0
DID NOT START [2nd RUNT 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
NOT PERMITTED TO START  [2nd RUN] 0
itk it BE [EAMiX]
2025-02-01 / == « ' U —>  E 7 itpE /HE AT S8/ 2

DATA PROCESSING by SEI KO

TIMING by SETKO



INFEAE 1 ER [El#x
IR
e e _ FE=ANT—F
Hff# i EBE [EfX] a—X4
PR AN A e
% WwH B [EfiX] RE— FHR 763m
T 4=y a R 656m
BHEEER B EBE [EffX] EEE 107m
14 H 274H
a—REyH— 5% 75 INGP] a—RtEyH— =B A [NGP]
BIEH - A - EiE —B AIEH - A - i —
¥ 38(37) R & — MR 10:00 TP 383D 27— R 12:00
Kk E E-1 AV K g EE VAV
AF—L/T 4=y KB 0.5C 7/ 1.0C RE—=br/T4=yvaRiR 1.0C 7 1.5C
F=
MBAE  Ay—b b BEE 1xXB 2&B & 7 V—X
No No K4 B a4 TR & o < 1 R~ 3 8 I
4 17 LR FE Tal— 4386 4526 1:29.12
2. 19 E/N B A 53.03 5312 1:46.15
3 2 N N Tal— 5259 5519 1:47.78
4 20 ARER &= AUA B 1:0263 5393 1:56.56
5 18 TR R Tal)— 58681 1:.01.46 2:00.07
DID NOT START [1st RUN] 0
DID NOT FINIESH [1st RUN] 0
DESQUALIFEED [1st RUN] 0
NOT PERMETTED TO START [lIst RUNI 0
DID NOT START [2nd RUN] 0
DID NOT FENESH [2nd RUN] 0
DESQUALIFIED [2nd RIN] 0
NOT PERMETTED TO START [2nd RUN] 0
itk Bt BE [EfiX]
2025-02-01 / == - 7'V — 7 HERT S8/ 2

DATA PROCESSING by SE I KO

TIMING by SEIKO



B7 THRHEREERELBREAF-RES
GREREFRELBREAF-RHLTER)

T 4% L5
AKERER
Uy — FI = INTF—H
itk B EBE §:3. 108 | o—R4 )
YF IR VT
FE wWH BWM [BEfiX] R B — NA 763m
T4=yva iR 656m
BREZRR Ei RE [EfiX] ERE 107n
148 248
T— Rty H— = 73 [NGP] O— Ry F— S5 5 INGP]
AiEE - A - el —B BiEE - A - g —%
HEF3R KLTET)) 25— hEER 10:00 PRk 383N A & — b 12:00
K £ EH AN Kk £ E-X-} VAZEN
AF—bL/T4=vvakil 0.5C 7 1.0°C RE—b/Ta4=v 2Rk 1.0C /7 1.5C
F=
IBRE Ap-b - EEE 1B 248 & # LV—X
No No K4 B 4 BT B 4 =T R A
1. 25 AH FE KUA k 5915 1:01.36 2:00.51
2 28 FE =R Tal— 1:07.91 1:.07.25 2:15.16
3. 23 4B EF B ART 1:09.72 1:12.49 2:22.21
4 24 A EHBFE Tal— 1:19.16 1:09.62 2:28.78
DID NOT START [1st RUN] 2
26 K@\ #F Tal—
29 EEF T Tal—
DID NOT FENESH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
22 | HEBET Pal)— Gate- 7 1:22.45
27 X HE RUA b Gate-13 DNF
NOT PERMITTED TO START [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FENESH [2nd RUNI 1
DISQUALIFIED [2nd RUN] 0
NOT PERMITTED TO START [2nd RUN] 0
vk B BE TE#XY
2025-02-01 / == - ' U — 2 VT HE EEEET S8/ 2

DATA PROCESSING by SE I KO

F iz S L NS ERd

126X 7

TIMING by SE I KO

Z3—FY— PN



¥ 3 S
ANFRIEE
e T =HANT—F
EfE i BE [Ef6X] T—R4 . . .
VT aRT LT
e wWH R [EffX] A HF— MlA 763m
Ta4=yva iR 656m
REEEERE B BE [EffilX] EaE 107m
14A&H 2 AR
a—AEyHF— T8 5 [NGP} T—AEyH— L il INGP]
AiESE - A - g — AIEE - A - g —B
pii: ARGk 383N A5 — MR 10:00 )16k 38(3D A — NEEE 12:00
K E- EE Y7k Kk e EE A
AF—b/T4=vvaiilk 0.5C 7 1.0C RE—bL/T 4=y vaRik 1.0°C 7 1.5C
F=
NERE Ap=h ~p BEHE 128 2&B & #H 1V—X
No No K4 B A& B B 4 N 5 = A = S 1 i 0 v
=5 32 S B 754+ 57.37 56.10 1:53.47
2 30 Yo it T RRFp— 56.62 58.90 1:55.52
3 34 RE DH VAZ 1:03.68 1:04.74 2:08.42
4 31 HO vk al— 1:08.16 1:05.82 2:13.98
5 35 B EEF 774k 1:05.64 1:10.34 2:15.98
6 33 IR BE Tal— 1:06.57 1:09.44 2:16.01
DID NOT START [1st RUN] 0
DID NOT FINESH [1st RUN] 0
DESQUALEFEED [1st RUN} 0
NOT PERMETTED TO START [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FENESH [2nd RUN] 0
DISQUALEFIED f2nd RUN] 0
NOT PERMITTED TO START [2nd RUN] 0
ik BH BE IE8FX]
2025-02-01 / == - 7'V — L 7 HE EEAT S8/ 2

DATA PROCESSING by SE I KO

TIMING by SEIKO



T 25 [
AR RER
Vol — FhH—hRAT—F
Bt TR R [E4iX] a—R4
YT uRFLT
F& wH B [EiX] A F— bR 763m
T4y a s 656m
HEEAER i BZ [E4X] TE= 107m
1 A8 24H
a—Rty H— =85 N [NGP] a—REyH— =5 5 [NGP1
AiEE - A - g —B AIES - A - efg —B
M 38(3N 27— MR 10:00 TP 383N A& — MR 12:00
Rz E EL=] 7k Kig £ EE A7
AF—b/T 4=y vamiB 0.5C 7 1.0C ARE— P/ T 4= aKiR 1.0°C 7 1.5C
F=
NEfE Ap=h ~b BEE 148 2&xB & EFH V—2X
No No K# B % BT R 4 7 I 1 I S L 9 Vg
1. 39 X&%x AFT Tal— 55.50 5988 1:55.38
2- 36 /NSy Tal— 1:00.03 1:00.83 2:00.86
3- 41 EH BT RTA B 1:00.56 1:01.31 2:01.87
4 42 2% T EA 1:30.17 1:26.36 2:56.53
5 38 Hf BT g ll— 1:5415 2:07.20 4:.01.35
6 37 +E ®BHFF Tal— 2:00.78 2:01.00 4:01.78
DID NOT START [1st RUN] 1
40 Bk T RIA b
DID NOT FENESH [1st RUN] 0
DESQUALIFIED [1st RUN] 0
NOT PERMETTED TO START [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FIENESH [2nd ROUNY 0
DESQUALIFIED [2nd RUN] 0
NOT PERMETTED TO START [2nd RUN] 0
Hiffftk B B [EfiX]
2025-02-01 / == «- 7'V — 7 R HEEET S8/ 2

DATA PROCESSING by S E I KO

TIMING by SE I KO



ZF 1H B8

AR ER
e _ T =ANT—F
i eE 2 EBE [E81X] a—R4 .
YL 2 aRFLF

*E WA B [EfiX] A — b 763m

T 4=y va R 656m
BEERR i BE [BEiX] BRE 107m
148 2748
a—REyF— =5 A [NGP] a—REyF— = A [NGP]
BiEH - A - g — ATZEH - A - 1 —%

BF 38GT) RS — MR 10:00 B 3GD AZ—LRRE 12:00
xf e 5

£ Y7k KA £ =5 7k
AE—b /T 4=y v aRkiB 0.5C /7 1.0°C AE—bF/T4=va ik 1.0°C /7 1.5C
F=
NERE AF—b b BEEE 1AX8 2&XB A & V—X
No No K4 B £ BB 4% B R OB M B BMAAIR
1 43 EH BE AUA b 1:03.10 1:01.80 2:04.90
2 M4 InE  #E4 AUA B 1:06.65 1:14.96 2:21.61
DID NOT START [1st RUN] 0
DID NOT FINESH [1st RUN] 0
DESQUALEFIED [1st RUN] 0
NOT PERMETTED TO START [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINESH f2nd RUNI 0
DESQUALIFIED [2nd RUN1 0
NOT PERMITTED TO START [2nd RUN] 0

itk it BE TEMX]Y

2025-02-01/ == - 7'V — 7 /EEHT S8/ 2
DATA PROCESSING by SE I KO TIMING by SEI KO




87 THBHXREFRELBRRAF—-RES
GERREFRELBZREAF—RESTPER)

BF 75 [E#5
AHRER
HrE 24 EBE [BAFX] a—24 ) ,
PFo T uRF LT
E=E: 3 WH RBis [E4iX] A B — hHbS 763m
TA4=vva g 656m
BHERERE 2 BE [EAiX] EEE 107n
148 2 KB
SRy T A [NGP} a—REyH— EL 2 [NGP]
AiEH - A - g —B AiEH - A - ik —B
HEFI % £1.{€7)] A5 — hEER 10:00 %L 383N A & — B 12:00
PR E E4=] Y7k R 5 E4] VAN
ARE—V /T4 =v vk 0.5C 7 1.0C AE—b/Tia=vvaRik 1.0C /7 1.5C
F=
WELE  Ap—p -} EEE 18 248 & # 1—X
No No K% L 4 BT B 4 B Bl BF Bl B Rl LB
1. 50 A Tal— 55.11 5440 1:49.51
2 47 WK ER AIA b 58.94 1:02.94 2:01.88
3 51 EH B VR 1:06.50 1:07.53 2:14.03
4 52 R BT 754 b 1:1413 1:10.42 2:24.55
DID NOT START [1st RUN] 2
49 ARES Fdn T RRUFp—
53 8 FEk Tal—
DID NOT FINESH [1st RUN] 1
48 B I P X 1:13.67
DESQUALEFEED [1st RUN] 0
5 46 e F— B &R Gate-16  1:06.07
NOT PERMETTED TO START [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FENESH [2nd RUN] 1
45 KF BE Pal—
DESQUALIFIED [2nd RUN] 0
NOT PERMETTED TO START [2nd RUN] 0
vk B B [EAfiX]

2025-02-01 / == - 7' U — 2 V7 EF EERT

S8/ 2

DATA PROCESSING by S E 1 KO

FeB oSO NES RS NES

[~ D=t P %

TIMING by SE I KO

= 3— Y P 7iEE



B1 65 EIL S
ANHRER
P2y — FIrmHANT—F
HivtE 2 Bz [BAiX] a—R%4 )
YFrruRFLT
F& WH Bk [EaX] R H— MHIA 763m
T4=y T a iR 656m
BEEEAR 2 B2 [BAiX] EEE 107n
14&H 2 & H
aA— Ry X — =8 N [NGP] a— Ry H— EH N INGP]
AiEE - A - g —% BiEE - A - iE —B
HEP 383D 2 F— N 10:00 JiAE 383N A F— 12:00
Kz g 4] 7k K £ E4] VAZAN
ARE—N/"T4=vaRik 0.5C 7 1.0C AE—b /T 4=y va R 1.0C /7 1.5C
F=
WAL 2p-) =N HEE 148 2XB & §# LV—2X
No No K4 2 % B B 4 B oM OB M OB ML
1 56 H*E FEE AUA B 5535 5744 1:52.79
2 57 b Fx X AET 5769 58.05 1:55.74
3 60 X5 AIA b 58.76 58.83 1:57.59
4 54 Il & Vg l— 1:01.50 1:02.09 2:03.59
5 59 FE BZ AUA b 1:04.15 1:03.42 2:07.57
6 55 25 4L AUA L 1:11.50 1:04.49 2:15.99
7 58 AR IR AIA R 12405 5631 2:20.36
8 6 g B aA 11176 1:12.23 2:23.99
9 63 5El BEA Tal— 1:15.25 1:1561 2:30.86
DID NOT START [1st RUN] 0
DID NOT FENESH I1st RUN] 1
61 BAE #5 754 b 53.79
DESQUALIFEED [1st RUN] 0
NOT PERMITTED TO START [1st RUN] 0
DID NOT START f2nd RUNG 3
DID NOT FENESH [2nd RUN] 1
62 BHA T HARX AT 1:20.59
DESQUALXFEED [20d RUN] 0
NOT PERMITTED TO START [2nd RUN] 0

iR it B2

TEHIX]

2025-02-01 / == - 7'V — 7 AR AT

S8/ 2

DATA PROCESSING by SEI KO

TIMING by SEI KO



BY 58 B3
INHRER
T2l — TI=HNT—F
HfffkE B BE [EX] a— R4 )
Y InR LT
E=E:3 WA B [EAiX] RH— A 763m
T4 =y 656m
BHEEER By BE [EfilX] EEE 107m
148 2 &8
-2ty H— HH 5 INGP] a—REyF— =8 B [NGP]
AiEE - A - g —B ATEHR - A - B —k
HEFRE 383D R H— B 10:00 Ji:diGE - q 383N R & — FERR 12:00
K E £ AV K £ F V7 k
AF =+ T 4=y aRil 0.5C 7 1.0C RE—b/T4=vaRiB 1.0C / 1.5C
F=
NEHAL AB—h =N EREE 148 2&KH A # V—X
No No K4 B & BF B 4 B M OB R OB R RAb
- 66 KB BT AUA b 1:03.58 1:06.55 2:10.13
2. 67 A& ¥ ATA K 1:.08.96 1:02.53 2:11.49
3~ 65 shigy R AIA b 1:11.89 1:.0360 2:15.49
DID NOT START f1ist RUN} 9
DID NOT FENESH [1st RUN] 0
DESQUALIFEED [1st RUN] 0
NOT PERMETTED TO START [1st RUN] 0
DED NOT START {2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DEISQUALIFIED [2nd RUN] 0
NOT PERMETTED TO START [2nd RIN] 0
HifkE B# B IEAIX]
2025-02-01 / —= + 'V — > ¥ 7 R HEAT S8/ 2

DATA PROCESSING by SE I KO

TIMING by SE I KO



FF4E

AFERER
Tal— N FH o AT—F
& 24 BE [EAFX] a—R4
YR FLVT
FE wH B [EAFX] A H— P 763m
T 4=y a A 656m
BEEBRER B BE [BEfiX] BEeE 107n
14H 24 H
a— Ry H— = 2| [NGP] a— Rty F— =H 5 [NGP]
AiE#H - A - itk —B AiEH - A - g —5
i 38(37) R & — EEf 10:00 it 38(37) R & — | B 12:00
PN 2 =Y J7k KE = =4y 7 b
REH— }\/74'——//:.5«.15 0.5C /7 1.0C RE—N/T4=v¥VaRik 10°CI .5C
F=
WERZ A#—D - SR 1A 2&AB & & V—X
No No K4 B A W OB 4 B OB OBF R OBF OB ARAUFB
A 72 /AR JEFA Tgl— 4477 4512 1:29.89
2 76 W HE— AUA b 46.50 4561 1:32.11
3 86 e I T RRUFxp— 5326 5099 1:44.25
4 84 HA M T RRUFx— 53.02 5369 1:46.71
5 68 Wl HR BA 5362 5480 14842
6 73 1ERE  KBR AUA R 47.92 1:.02.72 1:50.64
7 70 =a R Taly— 5587 5522 1:51.09
8 87 R Tal— 56.18 56.44 1:52.62
9 81 miE 7 RRF p— 58.87 59.47 1:58.34
10 69 ME 28 T RRUFx— 5940 59.20 1:58.60
11 80 2% ¥ BA 1:23.03 4863 2:11.66
12 78 XH % RITAL b 12210 5471 2:16.81
13 82 AH BE AUA+ 5946 1:21.08 2:20.54
14 75 R HHE AR 58.27 1:22.32 2:20.59
15 77 g ®E T RRFp— 1:4093 5543 2:36.36
2025-02-01 / == - 7Y — T EE R S8/7 1

DATA PROCESSING by SE I KO

TIMING By SEI1 KO



BF4H

F=
AL A—h a-h EEEE 1A 2A4H & & 1—X
No No K4 B &4 B B % = T I = 5 I < 15 O G
DID NOT START [1st RUN] 3
il EH BHi Tal—
74 Er & Val—
83 = u i Nz Tal—
DID NOT FINKESH [1st RUN] 1
79 #E &7 Tal)— DNF
DESQUALIFEED [1st RIN} 0
NOT PERMETTED TO START [Ist RUN] 0
DED NOT START [2nd RUN] 0
DID NOT FENESH [2nd RUN] 0
DESQUALKFEED f2nd RONT i
85 B O DEDES 54.21 GATE No. 8 , ICR-629.3
NOT PERMITTED TO START [2nd RUN] 0
Hifffkk Bl BE IEM#X]
2025-02-01 / == - 7'V — V7 EREAT S8/ 2

DATA PROCESSING by SE I KO TIMING by SE I KO



B+ 3 Bl
ARRER
T2y — ‘ FF =T 5
e i BE [E8X] a—R4 ) )
VRN YA
T WA B [BAiX1] R Z— MA 763m
T4y a S 656m
HEZER B BE [EAiX] EEE 107m
14H 2A&H
a—AbEyF— E i) [NGP1 T—REyH— =HE [NGP]
BiEH - A - T —B AiEHE - A - g —B
hii: ik 383D 2 & — hRER 10:00 HEPR%K 38(37N R F— PR 12:00
K& E EE VAN PR3 E EL] J7k
RE—b/T74=va kil 0.5°C /7 1.0°C AE—N/T 4=y vaRik 1.0C /7 1.5C
F=
WERL Ap-) =3 EEE 1AXB 2#&B & # V—X
No No K& B & B B 4 E A< - I - 0 IV
1. 89 BK R AUA B 5465 5067 1:45.32
2 9 H E— 754 b 56.21  53.58 1:49.79
3 9% HOo #2Z 754 b 56.09 5469 1:50.78
4 93 Bl fEaA 5855 5586 1:54.41
5 o4 k5 Bt Tal— 1:01.01 1:.0039 2:01.40
6 88 B B Tal— 1:04.69 1:05.02 2:09.71
7 9% N R TaY— 1:43.58 2:10.93 3:54.5%
DID NOT START [1st RUN] 1
95 HH — & A
DID NOT FENESH [Ist RUN] 0
DESQUALIFIED [1st RUN] 0
NOT PERMETTED TO START [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINESH [2nd RUNT 1
92 MR BT wIA B
DESQUALEFIED [2nd RUN] 0
NOT PERMETTED TO START [2nd RUN] 0
ik S BE IEAiX]

2025-02-01 / — = - U — > 7 HEE HEEAT

S8/ 2

DATA PROCESSING by SE I KO

TIMING by SE I KO



BF2H

[Ej#r
KRR

Pall— FE BT —5
AR B BE [EfX] a—24 ) _
FFL I mAF LT
FE WA B [EfiX] R — N HA 763m
TA4= vy R 656m
BEERER B BE [EfX] BRE 107m
148 2A4H
a— Rty H— =B f INGP1 TI—RE oy F— =% A [NGP1
AiEE - A - g — AiEH - A - g —5
R 383D A & — R 10:00 TR 38(37) 2 — R 12:00
PR3 g =5 V7 b Rl E4-1 VAN
RE—F /T4 =K 0.5C 7 1.0°C R A — F/74~/V1ﬂﬁ 1.0C /7 1.5C
F=
A S 52 1AH 2XH & & 1A
No No K4 B 4 BB 4 B M OB R OB R ORAVE
=2 100 Kix ek Tal— 59.13  45.95 1:45.
2 97 B F AUA R 1:10.63 57.11 2:.07. 74
3 98 mE EE Yal— 1:25.07 46.45 2:11.52
4 101 Eie AR Val)— 1:08.43 1:10.59 2:19.02
5 9 £F HEA Pall— 13214 5399 2:26.13
DID NOT START [1st RUN] 0
DID NOT FINESH [1st RUN] 0
DESQUALIFIED [1st RUN] 0
NOT PERMETTED TO START [l1st RUNI 0
DID NOT START [2nd RUN] 0
DID NOT FINESH [2nd RUN] 0
DISQUALIFEED [2nd RUN] 0
NOT PERMETTED TO START [2nd RUN] 0
ErkE B B2 | $23505 |
2025-02-01 / == - 7'V — > 7 HEEAT S8/ 2

DATA PROCESSING by SE 1 KO

TIMING by SEIKO



BE1E [Edz
AFKRER
Pa ) — FH=HAT 5
& B BE [EfX] a—R4 ) ] )
PHFL I AR VT
ESE: 3 ¥H B# [EiX] R — b HI 763n
T A= a s 656m
BEEER i BE [EfiX] BEZ=E 107n
148 248
a—REy H— =5 N [NGP]1 T—REyH— =B N [NGP]
AIESE - A - 1EiE —B AiEH - A - ik —
M 383D Z F— MR 10:00 % 383D R & — R 12:00
K £ E4] Y7k PR3 £ EE VAZN
RE—br/T4=yvvakiB 0.5°C 7 1.0C RE—N/T 4=y vaKik 1.0C 7 1.5C
F=
WS A-b b B 1AH 240 & #H L—XA
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